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Deaths, previous day — average error: 7.697
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Deaths, one week ago — average error: 7.735
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Deaths, mean all previous days — average error: 6.129
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Deaths, mean previous 14 days — average error: 5.724
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Deaths, mean same day of week — average error: 6.131
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Deaths, mean same month — average error: 5.616
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Deaths, mean similar tmax — average error: 5.888
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Tmax, previous day — average error: 4.357
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Tmax, one week ago — average error: 7.576
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Tmax, mean all previous days — average error: 11.051
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Tmax, mean previous 14 days — average error: 5.741
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Tmax, mean same day of week — average error: 11.075
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Tmax, mean same month — average error: 6.182
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Deaths, with month, then tmax — average error: 5.599
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